The pomts O, P and O be on a cxcle C with diameter OO, The postion vectors of F and
relative fo O, are p and q respectively.

(s) Provethat pgq=|p %

Figure 3

The pomt R ako hes on  and OPOR & a kite K as shown m Fiore 3. The pomt 5 has posiion
vector, rebitve to O, of Ag, where 4 & a constant. Grenthat p=i+2j-k gq=2i+j—- 2k and
that O 15 perpendicular to PS5, find

(b the vahe of A,

2)
(c) the postion vector of R,

3
() the area of K.

ey
Ancther cicle € & drawn mside L so that the 4 sides of the kite are each tangents to C.
(g) Fmd the radms of C; gpmg your amswer m the form (V2 — 1)vn, where n 5 an mieger.

(5

A second kite £y & smular fo K and 5 drawn mside .

(i Fmd that area of K.
(3
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